3xb2] QM 4Rt B3 )

=Rt =

761 523 790 116 350
270 292 222 435 424
343 478 800 564 238
+448 +971 +716 +660 +386
689 409 945 6/2 740
472 686 512 950 667/
957 3886 448 352 713
+254 +875 +745 +272 +200
576 314 438 763 932
746 542 867 654 829
322 434 269 446 522
+707 +405 +116 +668 +469
447 186 955 327 730
846 199 551 237 506
633 102 144 580 109
+458 +402 +812 +382 +991
245 114 318 6/3 795
663 787 728 349 105
603 214 692 998 930
+677 +976 +219 +456 +810
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761
270
343
+448
1822

689
472
957
+254
2372

576
746
322
+707
2351

447
846
633
+458
2384

245
663
603
+67/7
2188

523
292
478
+971
2264

409
686
3886
+875
2856

314
542
434
+405
1695

186
199
102
+402
889

114
/787
214
+976
2091

790
222
3800
+716
2528

945
512
448
+745
2650

438
867
269
+116
1690

955
551
144
+812
2462

318
728
692
+219
1957
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=Rt

116
435
564
+660
1775

6/2
950
352
+272
2246

763
654
446
+668
2531

327
237
580
+382
1526

6/3
349
998
+456
2476
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